Review

Unit Review - Line Segments

Unit 2&3 — Analytic Geometry

1. Given the following points: Y(6, -1) and O(-3, 5), find:

a. Length of YO
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2. Given the circle x* +y?* =16, state its center and radius: _Cgig/( 0Q) radus is Y
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3. The point (6,-3) is on a circle that has its centre at (0, 0). Find the equation of the circle.
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4. If the midpoint of a line segment is at M(-2, -1) and one endpoint is at A(1, 4). Find the
coordinates of the other endpoint, P. Al( '1‘1)
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5.

A quadrilateral has vertices S(-2, 5), T(5,2),
O(4,-4), & P(-3,-1). Use all applicable skills
from this unit to determine what type of
quadrilateral “STOP” is — be as specific as
possible. Show ALL your calculations.
What'’s your plan? IE: What do you need to
calculate? and 3lope
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A triangle has vertices with coordinates

R(4, -4), A(-5, -4) and T(1, 2). Find the
equation of the median from R to the midpoint
of side TA.

What's your plan? IE: What do you need to
calculate?
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7. Arright triangle has vertices C(-2, 2), T(0, 6),
W(4,4). Verify that the midpoint of the

hypotenuse is equidistant from all three
vertices.

What’s your plan? IE: What do you need to
calculate?
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8. AMAN has with vertices at M(-3, 5), A(-6, -7), A :
N(4, -1). Determine the length of the median
from M to AN.

What’s your plan? IE: What do you need t0
calculate?
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9. Line segments IN and ON are equidistant.

Determine the values of a if I(-6, -4), N(-2, -1),

Unit 2&3 — Analytic Geometry

(5_> =(\j 1 (-l-‘ﬂL )1.-_, Squalc cech

SJ‘CJC..
X
95 = 9 + (-1-9)
\[ﬂ-.fo \(-1-a) T ——— squarc oot

g—N each s'de

=."l"a. OR‘ _q:-l_Q
-3 =-a

10. Line segment HI has H(3, -1). The length of
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11. APET is isosceles with vertices at P(4, -1),
E(-1, 0), T(3, -6). The two equal sides are
PE and PT. Verify that the median from
P to ET is also an altitude.
What’s your plan? IE: What do you need to

calculate?
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12. A circle with the equation x? + y?* = 25 has its
centre at (0, 0). A chord of the circle has its
end points at M(-2, 6) and E(-6, -2).
Determine the equation of the perpendicular
bisector of ME and verify that the
perpendicular bisector passes through the
centre of the circle.

What's your plan? IE: What do you need to

calculate?
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5. opposite sides: 7.6 and 6.1; opposite slopes: =*
8.485 =92 9.ais-50r3

3 and 6 ; parallelogram
10. (1, 5); (5, 5) 9, 1): (9, -3): (5, -7): (1,

11. the slope of the median is 3 and the slope of ET is ‘— so they’re opposite reciprocals

6. y=3x-20r x+2y+4=0
-7); (-3, -3); 0r (-3, 1)

12.y=3

7. all distances are /10



